B CAB TECHNICAL ADVISORY

Building Code Advisory Board of Palm Beach County lssued on 05-18-11
by Building Code Advisory Board

Subject: MESA Modular HVAC Pad System

In 2011, the Building Code Advisory Board investigated the MESA Modular HVAC
Pad System and found it to be compliant with the 2007 Florida Building Codes. The
system is comprised of three pads that are molded of a composite material. Each
pad measures eight inches in height which allows for a 24 inch maximum height
when all three pads are used.

This system appears to be of particular usefulness in meeting the FEMA elevation
requirements for equipment installations in SFHA (Special Flood Hazard Area)
regions. This is due to the ease of installation of the modular system versus the
special engineering and construction that is required to construct a raised
equipment pad.

The MESA system is engineered to meet the requirements of the International Code
Council's Evaluation document “AC-100 Acceptance Criteria for Air-Conditioning
Equipment Pads”. The MESA Modular Systems Corporation also had third party
testing performed to verify the engineering results.

When installed per the attached engineering and installation instructions, this Board
finds the MESA Modular HVAC Pad System to be Code compliant.

For Building Code Adwsory Board:

U/(,(,cu,(,t

J Tomas;k Chair

The Building Code Advisory Board of Palm Beach County was created by a Special Act of the Florkla Legislature, at the
raquest of the building code enforcement and construction industrles. The purpose of the Board is to advise the Board of
County Commissioners and local governments. concerning the adoption of bullding codes and their enforcement throughout
the County. The Act also granied Palm Beach County special powers concerning building codes, in the inferest ofthe public's
health, safety and general welfare.

2300 North Jog Road - West Palm Beach, Florida 33411-2741 - 561-233-5401 - FAX 561-233-5020

Ci\Users\acekt\AppData\LocaliMizrosoftWindows\Temporary Intemet Files\Content. Qutlook\FZQWWV012\Technical Advisory -
MESA Modular HVAC Pad System 2011 05 18.dec




Summary of Engineering [N
Analyses of MESA Modular MTEJW
HVAC Equipment Pad System

This sheet summarizes the results of engineering énalyses of the MESA Modular HVAC Equipment Pad system.
The engineering analyses performed by McCormick Stevenson Corp. {MCCST) find that:

1

The MESA pad will pass the AC100 Concentrated Load Test with a maximum load of 500 lbs. MCCST
analyzed the MESA product per the Concentrated lLoad Test requirements of ICC-Evaluation Service
document AC100 "Acceptance Criteria for Air-Conditioning Equipment Pads", The results of this analysis
show that the MESA product complies with the requirements of this Concentrated Load Test.

The MESA pad will pass the AC100 Creep Test with a maximum load of 125 lbs per loading disc. MCCST
analyzed the MESA product per the Creep Test requirements of ICC-Evaluation Service document AC100
*Acceptance Criteria for Air-Conditioning Equipment Pads". The results of this analysis show that the MESA
product complies with the requirements of this Creep Test.

The maximum allowable condensing unit weight to be supported by the MESA product is 500 lbs. The
MESA system was designed to be used with units from multiple manufacturers. While most standard units

HVAC _Equipr_nent Pad is exempt from the
erefore, does not require impact testing

The ground anchor will sustain 150 mph wind loading without failure. When installed per the attached
installation instructions, in soils consisting of toose to medium dense fine sands or firm clayey soils, the
ground anchor will sustain 150 mph wind loading without failure. Soft clays and mucky (organic) soils are
not considered acceptable for this application.

The concrete anchor will sustain 150 mph wind loading without failure. When installed per the attached
installation instructions, over soils consisting of loose to medium dense fine sands or firm clayey soils, a
concrete pad with the 1/2" stainless steel Powerstud expansion anchor will sustain 150 mph wind loading
without failure. Soft clays and mucky (organic} soils are not considered acceptable for this application. The
concrete pad must be large enough to obtain three inches minimum embedment of the expansion anchor
and prevent any overhang of the MESA product.

The AVK ARS4-420 threaded inserts will sustain 150 mph wind loading without failure. When installed per
the attached installation instructions, the AVK inserts will hold the condensing unit to the MESA product
during 150 mph wind loading.

. The MESA pad material is appropriate for the intended use, if installed according to the attached

instructions.

For details relating to the analyses, please contact MESA Modular Systems at
(727)798-7701.

Attachments: MESA Installation Instructions Earth Anchor System (dated August 2G10); MESA installation
Instructions Concrete Slab Anchor System {dated August 2010); Reference: MCCST Report 10274-01, Rev. H /,{ {,

25400 US HWY 19 M & SUITE 162 @ CLEARWATER, FL 33763 =

727.735.9633 B 727.736,8553 ' PASEL 200
mccormickstevenson.com
Flarida Certificate of Authorization 28223




A-CLIP

A-ARS4
(QTY 4)
AVK FASTENER
1/4-20 UNC

A-CLIP (QTY 4)
EQUIPMENT CLIP
Al
STEEL, ZINC PLATE

A-SDS14 (QTY 8)

SELF BRILLING SCREW
HEX HEAD NEPORENE WASHER
410 STAINLESS STEEL

COUPLER .75 HEX
12-13 UNC

A-HN12
ROD 1/2-13 UNC

A-EXT7 (QTY 1)
ANCHOR EXTENSION
778" 102

STEEL, HDG

COMES WITH MESA.

A-DCP (QTY 1)

A-HN12 (QTY 2)
1/2-13 UNC
NUT STEEL, HDG

A-TR44

1,2, OR 3 MESAS

1
A-HMB14 ﬁ\ A-HB34
i(-(i]ETxYBdc)JLT 1 A-HMB14 KA—SWTZ
1/4-20 UNC X 1 1/2 A-WF212
18-8 STAINLESS STEEL A-ARS4 . @

A-ANCH (QTY 1)
ANCHOR 6 3/8" X 1 3/4"
DUCTILE IRCN, HDG

A-HB34 (QTY 1)
= "HEX BOLT
© L 12-13 X 34 UNC

- "STEEL, HGD

DETAIL A

A-TR44 (QTY 1)
THREADED ROD, STEEL, HDG
1/2-13 UNC X 44 LONG CLEAN ENDS

A-SW12 (QTY 1)

1/2 SPLIT WASHER

STEEL, HDG

ATy rsremy
i STEEL, HDG SOiL SUPPORT PADS

3" % 32"

DESIGNED: JOE NAVARRO 810

PATENT PENDING

W E ’Q_S] MODULAR

SYSTEMS, INC,
ST PETERSBURG FL, (727) 623-4125

* NAVARRO DESIGN INC

. 127-581-0766

| APPROVED: DO NOT SCALE DRAW?NG[ INTERPRET PER ANS! Y14.5 | NAME: EARTH ANCHOR ASSEMBLY
DOCUMENT CONTENTS ARE "INTELLECTUAL PROPERTY OF MESA MODULAR SYSTEMS ING.* WHICH ARE SHEET: $ OF 1 SIZE | DRAWING NUMBER: | REV |
@E} PROPRIETARY AND CONFIDENTIAL, AND MAY NOT BE DIVULGED IN WHOLE OR PART WITHOUT AUTHORIZED SCALE: 0.126
PERMISSION OF MESA MODULAR SYSTEMS ING, COPYRIGHT 2010 MESA MODULAR SYSTEMS INC, PATENT PENDING | narTs: NG A EAA42 A
2

1




M ESA 'nsta.l |atI0n };I nstructions 2 lInsert the drive tool into te 2male end of the anchor. 5  With the deep wall socket and 3/8" drill, tighten down
Earth Anchorﬁ‘system on the hex nut. As the threaded rod is drawn up the

anchor will set itself to the anchored position. There
P

must be 4”7 to 6” of threaded rod above ground when
the anchor is set. Remove the nut and anchor setting
- Any time work is to be performed below ground, extreme care plate and keep for the next installation.
must be taken to avoid contact with uriderground utilities, ir-
rigation lines etc. When installing the MESA anchor the same
precautions must precede the actual work.

Safety First

«  Make sure there are no underground utilities where you will be
working. You can call 811 (hitp//www.callsunshine.com/) to lo-
cate most power lines. Phone, cable, irrigation and water lines on
private property are not part of the program. Your safety is your
responsibility.

- Contact MESA Modular Systems, Inc. with any questions relating

to these instructions. '
s 3 Hold the threaded rod and the drive tool together in

one hand and use the sledge to hammer the drive tool,

Getting Read .
et ea threaded rod and anchor into the ground.

> Soil and surface conditions will vary from site to site. The ground
must be level and compact 1o adequately support the MESA and
equipment. Soft clays, mucky (organic) seils, or other simiar con-
ditions are not acceptable. In the event soil conditions are less

When you're done there will be 1-1/2" MAX of threaded
rod above ground. Remove the drive tool,

6 Start by threading a 1/2” locking hex nut down the

than sufficient, steps to correct those conditions are the responsi-
bility of the installation crew. Additionally, if the soil in the installa-
tion location has been disturbed, it must be properly compacted
prior to MESA installation.

You’ll need:
«  3/4" erescent wrenches (2) 8 ib sledge hammer « level (cptional)
7HE" nut driver 3/8 variable speed drill plus the MESA Tooi Kit.

516" nut driver 3/8” drill bit

1 After completing the preparation of the site, locate the center
point of the MESA installation and use the drive tooland a 8 Ib
sledge hammer to make a starter hole 18-20" deep. Wobble out
the hole and remove the tool.

Screw the 44 x 1/2° threaded rod into the anchor shackle untii it
bottoms out.

MODULAR
SYSTEMS, INC.

P O Box 47564, St Petersburg FL 33743

Place the 6 x 8 anchor setting plate over the threaded
rod and hand-tighten a 1/2" hex nut down to the plate.

A A
s

Ph727.623.41250r727-798-7701  Fx727.289.8563

wwhw.mesamodularsystems.com

anchor rad to about 4” from the ground. Follow with the
double coupler and lock the two together. The exact
height is not important. Thread a 1/2” locking hex nut
onto the end of the 7-7/8” anchor extension that comes
with each MESA. Thread the 7-7/8” anchor extension
down into the remaining hole in the double coupler.
Adjust the coupler height to 7-3/8" from the grade level
and lock the two together. The height should be set
slightly lower {1/4”) than the circular indent on top of
the MESA unit,

7:7,/8" ANCHOR

August 2010




Turn the " "4ESA upside down and attach the four soil
support pai._32 x 3” . shapes) by pressing them into
the slots. Place the MESA unit into ‘position, centering the
coupler end of the anchor extension‘over the center hole.
Check to make sure it is sitting flat and level.

£ L]

Trouble shooting: you may need to re-adjust the height
of the anchor extension to achieve a level 1/4” below the
fop of the MESA.)

Once the correct height is set for the first unit, simply

add one anchor extenision for each additional MESA unit,
Tighten each threaded rod to the one below until the rods
touch - no additional height adjustment is necessary. The
MESA units will interlock. Place the 2-1/2" flat washer fol-
iowed by the lock washer on the center hole and use the
3/4 x 1/2” bolt to anchor ali three MESAS as one assem-
bly. The MESA units should be snug to the ground with
no slack under the washer.

MODULAR
SYSTEMS, INC,

9

10

11

PO Box 47564, St Petersburg FL 33743

Using care, place the’" Hensing unit on top of the MESA,
Do not drop! The raise.:ureas on the top surface of the
MESA will indicate the best position for the unit and fasten-
ing clips. Determine the correct condenser position and all 4
clip locations before you drill.

Attach the clips to the MESA first - use a 3/8” bit to drill
through the hole in the clip and though the top of the MESA.
With the clip placed over the hole, push an AVK fastener
through the hole In the clip and through the hole in the
MESA. The fastener sits on top of the ¢fip - not under it.

NUT DRIVER

1/4" BOLT
AVK TOOL

Place the fastener tool over the fastener flange and thread
a 1/4" x 20 x 1-1/4” 8.8. bolt through the hole in the tooi and
into the fastener a few turns to get it started. Use a variable
speed drill with a 7/16” nut driver - apply some downward
pressure and turn the bolt until it pulls the fastener tight.
The fastener tool helps to keep tha fastener from spinning
out, bolt to rel the fastener

Ph727.623.4125 0r 727-798-7701  Fx 727.289.8563

12

13

14

15

www.measamodularsystems.com

Thread the bolt back into the fastener to secure it in
place. By leaving the bolt in place you keep the fastener
putted tight to the bottom of the MESA.

Repeat for each of the other three holes.

Attach each ciip to the condensing unit using (2) #14 x
3/4" 8.8. self-tapping screws.

The hole in the side of each MESA is for the buitding
inspector to view your ancher installation. The cover
plate snaps into the hole and should be left loose urtil
the instailation is inspected. You or the home owner can
easily attach them afterward.

August 2010




